1D pull distribution

—-0.02 + 0.1439
1.038 + 0.1018

Mean
Std Dev

Underflow

Overflow

3.806/5

X2/ ndf

8.89+ 175

Constant

-0.007784 + 0.242938

Mean

1.267 + 0.266

Sigma

101.7

56.05/51
+

147.9

X2 / ndf
0

reg_asym_saml

|

2000




reg_asym_saml RMS (ppm)

________________________________L__________

—l_.

~ ©
~ ~

(wdd) sny

Lo
N~

<t
N~

™
N~

N
~

—
~

o
I~

(o2}
©

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€Vr6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



© b= (=] (=] (=] o« o
¢ 8 s 8 8§ 32
hat 2 @ - d
o o < o +
+ + - H + =] ]
o b ~ ~ - n
g s B oE .
o - o o -
= o i
N I -
3 < K] k=1 8 ]
] ) 5] £ 2 ] H g
c g = E g 3 s & o
o = 4] =) o < () = n -1
= -
5 —
) E
s 3]
2 ]
ho] i
= -
o —
(@) =
i
| | N L L 7
N o © o
— —
oy
Lo .
- ©
o i
I < ——T— 1
. ——— -]
< T —e—— —
o<t —e—— —
N — -
O o -1
5 -|.|. —
Te} —— —
L & —
— —
—e—— —
N —— —
d -|.|. —
[ ——— —
~ ———o—— —
O —e—— -
>< o —e—— .
m ]
®© —
[0} —
£ ]
= -]
7 -
na_ —
o -
o -
L —

10000

5000




reg_asym_sam2 RMS (ppm)

______________________________o__a_____________ﬂ

o o o o o o o o o
(] Lo < ™ N - o (e} (o0}
™ ™ ™ ™ ™ ™ ™ N N

(wdd) sy

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€Vr6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



] 3 © © N 8 8 3
I o > @ 5 N
s 2 Toaor o
H w - P ] © -
2 5 g ¢ 8 .
3 & —]
S 5
? 3
: £ 3 5 G ]
cls ¢ & 5 2 & 5 &
§1f2 8 5 s = 5 & 3
=
5 |
b =
s 3]
R ]
° S, ]
= =
o —]
(@)
i
v e b by by by by v by by g by 7
© © < o~ o © © < ~ [S)
- - - - -
— -
)
~ ©
N~ —
S+ .
—_————— —
Jo ]
ﬁD -
(o) hd ]
I — 1
— —
—_——T —
k] Y B ]
———— —
[ — ]
- ———— —
N O —e—14 -
< Q] — —
————— —
—_—— —
o™ - —
——— —
1S — e—1 7
© ——— ]
S_ —_—— —
—_— —
m — -
S — —
[7)] —_— —
o — —
— —
o —~— .
() — —
— —_——————— —
— ——— —
— —]
——e—— —
——— —
—_— —
—— —
—— —
—— -
—— -
—_—— —
——— —
——— —
— —
——1— —
—— —
—— —
— —
NI iy mrmy mrarn i) TR
o o o o o
=] =] =] =]
=] S S S
s s ¥ §




reg_asym_sam3 RMS (ppm)

(wdd) sy

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€Vr6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



reg_asym_sam4 1D pull distribution

X2 / ndf 40.79 /51 M 0.02102 + 0.1228
— lean R +0.

10000 }— pO —-865.1+ 426.2 F

- B ] Std Dev  0.8855 + 0.08683

- 14 __ Underflow 0

5000 — : Overflow 0
| ] 12k

L X2/ ndf 324415

L l l [ { l ] - Constant 10.39 + 1.93

0 10 ,

] 1 l l T I I T r Mean -0.051+ 0.180

i T ‘ B Sigma 1.074 +0.171
— 8 B
-5000 j :
— 6 —
NEREREEEE | A
2k

O-Illlll I|III|III|I
8 6 4 =2 0 2 4 6 8




reg_asym_sam4 RMS (ppm)

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€Vr6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



4000

2000

—-2000

—-4000

reg_asym_sam5

X2 / ndf

pO

46.04 /51
-516.2 + 231.9

—

1D pull distribution

121~

10

Mean 0.02762 + 0.1304
Std Dev 0.9406 + 0.09223
Underflow

Overflow

X2 I ndf 1.169/5
Constant 10.73 £1.93
Mean 0.02989 + 0.16639
Sigma 1.05 £0.15

-6 -4 -2 0 2 4 6

8




reg_asym_sam5 RMS (ppm)

g

________________
o © <+ o
~ N ~ O~
- - — o

(wdd) sy

o
~
—

(e}
©
-

(e}
©
—

164— *

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€Vr6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



(=2} n o o ©o ~ © ©
D [} — < @ —
a8 g 3 2 °
o M @ + ° pw_ 1
o s 303 .
< o re] o A .
N 8 s 9 1
= pi = -
- & 3 _ = ]
[} = o 5 8 ©
=1 a () = c %] c
c|§ = 2 ¢ 7 5§ § 5
o = 7] ) 6 % o = [
= =
5 ]
e ]
s _|_ 3]
d e —— 7
m e —— -
o ]
o
—
M T L L | L L .
9 © o
= m
n -
)}
(e 0]
%1 —
4 ——— —
2+_ — ]
n o -1
o8} — ]
e —
O —
| ]
u— —— _
d -|.|. —
c ]
- ]
N =] —
< Q] -
———— —
———o—— —
© —_— —
L, ]
S ", ]
w . —
| ]
E - ]
> — ]
7)) — e
© [ -
| — n
(@2} — -1
) ]
— —_— —
- — —
——— —
- ]
—— —
———— —
. ]
———— —
——— ]
- ]
—e——— —
———— —
———— —
L, ]
————— —

4000

2000

-2000




reg_asym_samé6 RMS (ppm)

° — 0°,S6S

(] — §'956S

[} — ¥'956S
(] —1 €'956S

[ J —1 2’9565
[ ] — 19565
[ J —1 0'956S
[ ] — §'S56S

° —] ¥'SS6S

[ ] —] €'956S

[} —] 2'SS6S

L] — 15565

° —1 0'S56S

® — L'VS6S

° — 9'vS6S

® — SVS6S

[ ] — v'vS6S

[ ] — €565

[ ] — 2'vS6S

[ J — T'756S

L] — 0'vS6S

[ J —] V'€56S

[ ] —] €'€56S

L] —] 2'€S6S

[ ] — T°'€56S

(] —1 0'€S6S

[ ] — 9'2S6S

(] —1 §'¢S6S

[ J — ¥'¢S6S

L] —1 €'256S

(] —] ¢'¢S6S

[ ] — T'2S6S
[ ] — 0'¢S6S
(] —1 0'056S
[} — S'vv6S

[ J — v'vv6S
(] — €'vv6S

[} — ¢'vv6S

L] — T'v¥6S

[ ] — 0'vv6S

[} — G'Ev6S

L] — V'EV6S

° — €'€v6S
(] — C'Ev6S

[ ] — T'EV6S

(] — 0'€v6S

° —] G'¢v6s

[ J — v'ev6s

(] — €'¢v6Ss

[ ] — ¢'¢v6s

. — 1T'2r6s
______L_____________________ 0'eres

___________________

o Lo o Lo o Lo o L o Lo
N~ (o] (] o Y9} < < ™ ™ N
— — — — — — — — — —

(wdd) sy



2000

1500

o
[}
o
i

500

o

-500

-1000

-1500

-2000

©o < © =T n o I
] 3 N S 8 5
s 8 S
H ° I r° MJ_ -
2 & s L 2 .
g 8 g - _
S S S i
? m
z - m
wm mw m o
c H] S 3 T = 2 g E
6l & 5 & % 8 = 3§
g —
m =
5 _ ]
g | —=__ =
= -
o ]
o
i
| L | | R T | L M B R
N 9 © © < ~ o
—
0 O
~ O
< O —
Mi .
— ]
< ~ m
——— —
o2 _
N ]
Q@ 7
| ] 7]
—— —
Y— — —
© [E— ]
c —— -
- ]
~ O —_— —
< Q] —— —
— ]
i ]
_W — ]
I ]
n ]
£ -
s, ]
7 ]
a_ —_—— —
— —
o ]
(O] —_—— —
—_ — _
—— ]
H -
————— -
———— —
—_—— —
— ]
— ]
— ]
———— —
——— —
— ]
—_—— —
——] -
—_————— -
— ]
_____________ TTTTfTTDT L1111 ___________ VT T

Ao T
_I_Oﬂ

N
T



reg_asym_sam7 RMS (ppm)

(wdd) sny

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€Vr6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



% m (=] (=] ~ ] n1b. ~
33 2 % 8§ ¢
s o 8 3 o 9
+ + ~ o H < ]
o <] 0 ~ ~ T
a3 e S 3 ]
s ? 7
. 3 =z _
@ < K] 5 8 ©
= o @ = 2 B c
c|§ = 2 8 3z § § 5
o = 7] =} ¢} < o = 7]
= =
5 —
b =
m .
g | = - 3
= -
o —
(@)
i
N B L 1 I I 7
5] N E] 3 < o~ [S)
o
Lo .
o8
© —— =
N 4 ———— —
M~ o —_—— —
Ln . —_—— —
© ——— —
< -
o 3
I —— —1
——o—— —
———— -
Y— -
i a— r— 3
c —e— —
~ —_———
NP =} —— e
< Q] — —r-ne
——— e
— —
0 —_— )— —
———— —
S — —
% —t—— It
—— —>
—— —
>, —— 5
[7)] —_— —
o — —:
| — -
(@)) ——— —_
() —_—— —_
— — —:
- — —
—_—— |”
—— —
— i —
— 1 —:
——— —
——— —:
— -1
—_——— —1-
—_—— —-
N — —
—— —:
—_—— —_t
(1 | _ Hhtedimb
—
m m o m m ™M N 4_
S : 7 ¥




reg_asym_sam8 RMS (ppm)

____o__________ﬁ_______________________________._||

< ™ o — o o 0 N~ ©
© © © © © o o Lo o

(wdd) sny

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€Vr6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



2000

1500

1000

500

-500

-1000

-1500

-2000

reg_asym_sam_15 avg

X2 7 ndf 4467151

p0 ~183.4 + 93.49

1D pull distribution

Mean  0.02254 + 0.1285
12- J’ Std Dev  0.9266 + 0.09086
F Underflow
10 Overflow
i X2/ ndf 5.027/5
B Constant 104 £2.0
8 —
o Mean 0.1068 + 0.1614
| Sigma 0.991+ 0.152
6 — -
4
2
0 L1l | Ll 1 | 111 | 111 | 1 L.l | 11l
-8 - -4 -2 0 2 4 6 8




reg_asym_sam_15 avg RMS (ppm)

.
___________o______
6 4 2 O 8
~ ~ ~ ~ ©

(wdd) sny

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€Vr6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



4000

3000

2000

1000

reg_asym_sam_26_avg

X2 / ndf

52.18 /51

-13.34 + 161.9

IIII|IIII|IIII|IIII|
—

II|H—H—I—H0-I—I—|—H—|-'IIII

—

1D pull distribution

Mean -0.03693 + 0.1388
10~ Std Dev  1.001% 0.09816
| Underflow 0
B Overflow 0
8_
X2 / ndf 5.267/5
r Constant 9.257 + 1.713
Mean -0.2139 + 0.2179
6_
| Sigma 1.15+0.19
4
2_
O||||| el bl il
-8 -6 -4 -2 0 2 4 6 8




reg_asym_sam_26_avg RMS (ppm)

(wdd) sy

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€Vr6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



3000

2000

1000

-1000

-2000

-3000

reg_asym_sam_37_avg

X2 / ndf

pO

46.88 /51
—58.24 + 103.9

|Illll.m‘—llllllllllllllll
—
H
—
L

T

1D pull distribution

Mean 0.002114 + 0.1317
121~ Std Dev 0.9495 + 0.0931
- Underflow 0
10+ Overflow [
X2/ ndf 4.086/5
B Constant 9.98+ 1.85
sl
L Mean  3.416e-17 + 2.432e-07
| Sigma 1.163:+ 0.200
6
=
o
0|||||| b o L il
-8 -6 -2 0 2 4 6 8




reg_asym_sam_37_avg RMS (ppm)

(wdd) sy

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€Vr6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



6000

4000

2000

-2000

-4000

reg_asym_sam_48_avg

— X2 / ndf

40.71/51

—556.3 + 232.6

1D pull distribution

Mean  0.01693 * 0.1227
14 Std Dev  0.8846 + 0.08674
r Underflow 0
12 Overflow 0
r X2/ ndf 5.176/5
101 Constant 109+ 24
I Mean  -0.1157 + 0.1592
8 .
| Sigma 0.9684 + 0.2016
6 —
-
o
0 | | 11l 1 | 11 | 111 | L1l | 11l
-8 -6 -4 -2 0 2 4 6 8




reg_asym_sam_48_avg RMS (ppm)

_____
o
©

_____
o
©

N ~N

(wdd) sy

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€Vr6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



4000

3000

2000

1000

-1000

—-2000

-3000

reg_asym_sam_15 dd

X2 7 ndf 48.8/51

po 332.1+ 152.7

—
L
—
-
——
o

3
%j !

1D pull distribution

- Mean -0.02782 +0.1343
r Std Dev 0.9684 + 0.09496
10 Underflow 0
Overflow 0
o X2 I ndf 1.25/6
sk
| Constant 10.13 +1.81
B Mean -0.06212 +0.17229
= Sigma 1.106 +0.149
4
2 —
O|||||I |||III|III|I il
-8 ) -4 -2 0 2 4 6 8




reg_asym_sam_15 dd RMS (ppm)

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

' —

. —

. —

. —

. —

. —

. —

. —

. —

. p—

. —

. —

. p—

. —

. —

. p—

. —

. —

. p—

. —

. —

. —

.l

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

’ —
_________________aﬁ_____________________
N — o o ) N~ © [To)
— — — o o o o o
— — — - — — — —

(wdd) sy

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€Vr6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



6000

4000

2000

-2000

-4000

reg_asym_sam_26_dd

X2 / ndf

pO

55.64 /51
587.8 + 278.9

—
[a—

1D pull distribution

Mean -0.03336 +0.1434
I B Std Dev 1.034 +0.1014
14__ Underflow
L Overflow
121~
L X2/ ndf 458216
u Constant 9.06 £ 1.75
10
r Mean 0.08269 + 0.19704
s I \ Sigma 1.169 +0.193
6_
4
2
0|||||| o b i il
-8 -6 -4 -2 0 2 4 6 8




reg_asym_sam_26 dd RMS (ppm)

(wdd) sy

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S

0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S

0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S

0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S

0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S

0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€Vr6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



s 8 5 # = 3
+ S I = < + .
~ +H S +H ~ .
s o g o — ©
g ]
> m 3 € -
@ = & k=1 8 ©
cls & 8 % ¢ & 5 ¢
ol &8 5 &6 % 8 2 @&
5 |
b =
s .
o do
© _ ]
= .
a ]
o
-
| L] M R T B S
W_. m oo} © < N o
10
O ™
-
00}
_nwoo — =
o + — e—— —
<t M ———i —
N~ ——— —1
. ° ]
0 P ]
4 —_—— —
! e - .
-
S A DA .
—_—— —
< — -
- ——— -
=) — el — .
=< Q| —e— -]
w —e—1— —
—_—— —
| T e———
N~ -
™M _
£ .
@© ]
s —
m_ ]
—_—— —
> -
7] —_——— ]
a_ ]
———i —
> —l——— -
] —— —
= ——— —
—— —
——— —
——— —
——— —
— —
——— —
—— —
——— —
[4 - — -
v|.|_ —
——— -
. . —— -
—_—— —
[ S — -
Lol IR Ly sru VT i M M
o o [ o o A o oo
8 8 S 3 - S o'd
~ | 4. n_/_ | |




reg_asym_sam_37_dd RMS (ppm)

____
o
©
—

(wdd) sy

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S

0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€Vr6s
'S
T'vv6s

0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s

0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves

0'¢r6s



1D pull distribution

0.02529 +0.1251

Mean

0.9023 + 0.08848

Std Dev

Underflow
Overflow

127716

X2 / ndf

7.734 £1.547
1.116 +0.162

0.06167 + 0.20097

Constant
Mean
Sigma

42.37 /51
—-308.8

X2 / ndf

OIII

© © < o~

200.5

+

pO

sam_48 dd

reg_asym

4000

2000

-2000




reg_asym_sam_48 dd RMS (ppm)

(wdd) sy

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€vv6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



1D pull distribution

-0.01518 + 0.1354
Std Dev  0.9767 + 0.09577

Mean

Underflow

Overflow

10.85/7
1027 +2.11

X2 / ndf
Constant

-0.143 £ 0.141

Mean

0.8538 + 0.1170

Sigma

|

6

0

49.62 /51
+ 688

7

-511

0

X2 / ndf
p

asym_saml

1

——

———

1500

1000

L1 _____ _____
o o

5000

-5000

| | __ 1111 __ L1 __¢.:_~:__:4_ 111
o o

-1000!
-1500!

o
o
o
o
o

~N — o o




asym_saml RMS (ppm)

(wdd) sy

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€vv6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



- < ) ) © ~ © o
5 g S 8 I g
S IS ~ — N o
— o
+ + P H H + .
g 8 5 5 & ]
g - < 5§ 4 -
3 7 ]
. 3 =z _
) T 2 k=1 8 ]
] ) 5] = |5 ] H g
c i = 2 e 3 s o o
o = 4] =) o < () = n -
= =
5 —
b -
s 3]
R ]
ho) -
= -
o —
(@) ]
i
| R R PR [ T TR W I SO T T | 7
N o oo} © < o
— —
— -
0
)]
95 ————— —
M + —— -
— D . S—— —
54|‘|. —
—_— —
< — | .
—_— ————— —
—— —
—_— —
—eo—L -
—_—— —
o= ——— -
° — -
[ — —
~ —e———— -1
9 ——— =+
>< o ——— ~
— —
—  —— —4
—— -1
— —
N — —
m ——— -
—— —
© — —
0 —_— —
—_— —
= - o———— -+
(] —_— —
© —_— —
—_———— -
S S— -+
[N — —
— —
— -
— o ———— —4
—_—7 —+
—eo—H —
—_—— —
—— -
————— —
—! -
— |_
—————— -
—_—— —
—e—— -
—_—— —
—— —1
» —— —
Alorn b eEtmeeb Lo Ly | H
L LIl 1ill | 1111 111
] 8 3 e 3 8 B
— - I —ﬂ. 1_.




asym_sam2 RMS (ppm)

(wdd) sy

3800*— e

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€vv6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



80000

60000

40000

20000

asym_sam3

749.4 +

58.64 /51

3066

—
—
—
—
—

TH

—
—

[E—

—

—
——

[RE—

—

E—

-
— 1

1D pull distribution

Mean -0.01228 +0.1473
12- B Std Dev 1.062 +0.1041
o Underflow 0
10 Overflow 0
X2/ ndf 3213/7
B \ Constant 8.849 + 1.634
8_
- Mean  -0.02555 +0.18743
i Sigma 1.204 +0.166
6_
=
o
0||||| h Lo b Ly i
-8 -6 -4 -2 0 2 4 6 8




asym_sam3 RMS (ppm)

3000
2800 —
2600 —
2400 —

(wdd) sy

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€vv6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



o 0 o o ~ o = o
g 3 s 2 8 9
= 2 9 g o
s 3 = oo S ©
+ o - S < -
o + © + 23
IS a S = ] E
N b= i a3 >
q g 2 =t i
5] = 8 — ©
=] 5] —
? .
: £ 3 5 G
s & § £ 2 § g ¢ ~
c 3 - 2 2 N 5 g =)
o = 7] =] o < [} = n
= =
- ER
= ]
@ .
o 3°
a N
o =
i
PR TR S TR NN NN TR TN SN ST S WO N ST SR S [ S ST SR S N S S P
w_. m © © < N o

4769

53.16/51
+

1865

X2 / ndf
0

p

asym_sam4

x10°




asym_sam4 RMS (ppm)

4200
4000 —

(wdd) sy

3800 —

3600 —

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€vv6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



40000

30000

20000

10000

asym_sam5

X2 / ndf
p0

44.87 /51
950.3 + 1664

—
—
—
—

._
——e-
—
—
———
-

—
——
—
—
—————1

1D pull distribution

Mean 0.01583 + 0.1288

16~ ] Std Dev  0.9288 + 0.09108
: Underflow 0

14
o Overflow 0

12 B X2/ ndf 8.32/6
L f Constant 12.27 £ 2.51

10 T Mean —-0.1621+ 0.1181
r Sigma 0.7605 + 0.1086

sk L]

6_

4

2

0-||||||||| il ol

-8 -6 -4 -2 0 2 4 6 8




asym_sam5 RMS (ppm)

° —]

) —]

Y —]

° —]

° —]

Y —]

° —]

) —]

° —]

) —]

) —]

Y —]

) —]

° —]

° —]

° —]

) —]

Y —]

° —]

° —]

) —]

° —]

Y —]

° —]

° —]

Y —]

) —]

) —]

Y —]

° —]

) —]

) —]

° —]

Y —]

° —]

) —]

o —

Y —]

) —]

° —]

° —]

° —]

° —]

° —]

) —]

° —]

° —]

° —]

° —]

Y —]

) —]

_____________________0_______________+
o o o o o o o
Lo o Lo o Lo o o
o™ ™ N N — — o
— i — — — — —

(wdd) sy

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€vv6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



1D pull distribution

0.01186 + 0.1427

Mean

1.029 +0.1009

Std Dev

Underflow

Overflow

3.594/7

X2 / ndf

9.913 +1.807
0.05169 + 0.16102
1.05 +£0.13

Constant
Mean
Sigma

|

1859

55.05/51
+

188.4

X2 / ndf
0

p

0III|II

asym_sam6

40000




asym_sam6 RMS (ppm)

(wdd) sy

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€vv6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



20000

10000

—10000

—-20000

asym_sam7

X2 / ndf

58.86 /51
177.2 + 989.9

ver e

e e g
. 2 BRI 3

R

1D pull distribution

Mean  -0.009635 * 0.1475
12- B Std Dev 1.064 +0.1043
o Underflow 0
10 Overflow 0
X2 I ndf 6.805/6
B Constant 8.293 + 1.656
sk f
- Mean ~0.2251+0.2191
| Sigma 1184 +0.217
6_ -
4
o
0||||| |||||||||||LL||||||
-8 -6 -4 -2 0 2 4 6 8




asym_sam7 RMS (ppm)

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€vv6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



g 8§ ° ° © g g §
< =1 o ® © ©
bl = R - S o
c S ~ + o +
+ + © © + ¥ -
© © o © ] -
g £ s § 8 ]
3 2 © 3 -
=] T -
3 -
H =
3 2 m k=1 m ©
c|§ ¢ & 3 & z § ¢£E
sl 8 5 & %« 8§ = @ B
= -
= —]
o -
s ]
2 ]
© [ .
= -
o =]
o ]
-
T | - | M | ! ! 7
N o © © o
- ~
pdee)
Ln -
- N~
N
o R —— 3
< +l 7
O oM ———— —
| ——— —
o ;
o -
Lo ;
| -
—_—— -
Y— -
© —
c -
-~ —_— —
NP =} —_—— —
< ——o——— .
—_——] -
—_—— —
—  o—— -
—_— -
[ee] —_— =
m ——t—— —
= —leg— -
—_— =
0 ———— —
m_ — o1 -
———— |
> —_— -
[)] —— —
© —e—— —
— —
— —1
—_—— —
——— -
—— —
—_— —
—_—— -
—_— -
— — —
—— —1
— —
—_— —
—_— -
— —
— e —1
—— -
—  o—— —

15000

10000

5000




asym_sam8 RMS (ppm)

° —] 0265
° —| 59565

° —| 9568

° —| 9565

° —| z'9565

° — 19565
. —] 09565

° — 55565

° —| 5565

° —| 5565

° —| z'ss65

° — 15969

° —| 0’5565

. — Lvs6S

° — 97565

° —| svs6S

. —| vvs6S

® €565

° —| zvs6s

® —{TvS6S

. — 07565

° —| r'eses

®  —£Ee56s

. —| zes6s

® 1565

. —| 0°es65

° — 92565

° —| 52565

° —| 2565

° —| €256

. —| z'zg65

° A

02565
00565
° — Svves

° —| v'v6s
. o R
(AL
° —{1Tvv6s

° — 0'vv6S

. — s'eves

° —| v'eves

) —| e'ev6s

° — zeves
° — TEves

° — 0'eves

° —| 5'zr6s

. —| v'zres

° —| e'zv6s

. — z'zr6s

— 1T'2r6s
|- o°eves

(@] o o o o
N o (s} © <
© © Lo Lo Lo

460 —

(wdd) sy



~ [s] =] =] 0 N b= o
2 5 » S
g8 3 3 9 = 3
=} = © + =] o
H © ~ 3 + + ]
< H ] 9 o a
g 2 bl =} < ]
3 2 S = -
g & 3 5 ]
: & 3 5 G :
s & § t© B2 z g g —
c ] = B g ~ 5 o} i=) N
o = 4] =) o < () = n
=
=}
m =
= | ]
3 ——— =
© _ -
E _ .
o
o
i .
P R T I R S | L NI B B R
< N o [ee] < N o
- — =1
"«
Lo .
- ©
N
5 8 -
) ———— —
< ® 3
™M —lo——— —
N —_—— —
— .
© -
c -
- —
~ -
x< —
S
a_
Te}
—
m_
©
7]
m_
>
%]
©

15000

-5000




asym_sam_15 avg RMS (ppm)

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€vv6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



asym_sam_26_avg 1D pull distribution

60000 F— X2 / ndf 59.37/51 M 0.02171+ 0.1481
lean =0. +0.

C pO 315.4 £ 2075 i
- I B StdDev  1.068 + 0.1048

40000 |— L
- 10 Underflow 0
I Overflow 0

20000 B
X2/ ndf 3.532/6

Constant 8.729 + 1.674

Mean -0.1458 + 0.2233

—20000 Sigma 1.271+0.229

—
—
—
—
—
—_———
—
—
—
—_————
-

|
‘ll" -

—-40000 — -

OIIIlI III|III|III|II
8 6 4 =2 0 2 4 6 8




asym_sam_26 avg RMS (ppm)

__f___M

2000
1900

(wdd) sy

1800

1700

1600

1500

1400

1300

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€Vr6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



60000

40000

20000

—-20000

—-40000

asym_sam_37_avg

X2 / ndf

58.77 /51
466 + 2023

1D pull distribution

121~

101

Mean -0.01178 +0.1474
] Std Dev  1.063 + 0.1042
Underflow 0
Overflow 0
X2 / ndf 3.62/6
Constant 8.585 + 1.640
\ Mean -0.1722 + 0.2420
Sigma 1.301+ 0.243

-5

-4

-2 0 2 4 6 8



asym_sam_37_avg RMS (ppm)

________________
o o o o
o S o S
o © ~ ©
— — — —

(wdd) sy

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€vv6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



80000

60000

40000

20000

—-20000

—-40000

asym_sam_48 avg

X2 / ndf
p0

53.63/51
678.5 + 2686

T T

1D pull distribution

Mean -0.001007 + 0.1408
B Std Dev 1.016 + 0.09959
10+ Underflow 0
Overflow [
F X2/ ndf 1.056 /7
sk
Constant 10.37% 1.97
r Mean -0.004773+ 0.162195
6 Sigma 1.07+0.16
4
2 —
0|||||| 1| il
-8 -6 -4 -2 0 2 4 6 8




asym_sam_48 avg RMS (ppm)

(wdd) sy

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€Vr6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



asym_sam_15 dd 1D pull distribution

30000 == X2 / naf 46.47 /51 M 0.0164 +0.1311
— ean =0. +0.
- p0 ~722.8 £ 1159 -
- 20 B B StdDev  0.9452 +0.09268
20000 — L
: 18-— Underflow 0
10000 u i Overflow 0
I~ l 16
‘ l I r X2 I ndf 13.38/7
0 I 14 L Constant 8578 +2.008
IEEENEI :
- Mean 0.03801 + 0.16919
-10000 12
[ Sigma 0.9628 +0.1712
~ 10
—20000 — -
- sF \
-30000 | — C
L 6
areeere e ey e e e e e e e e e e e -
4
2r
0-|||||||| ||||||||| |||||||
8 6 -4 2 0 2 4 6 8




asym_sam_15 dd RMS (ppm)

_____
o
Ty}
o

(wdd) sy

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€vv6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



sam_26_dd

asym_

1D pull distribution

-0.01742 + 0.1462

Mean

1.054 + 0.1034
2.535/6

9.192 + 1.672
-0.1196 + 0.2178

Std Dev
Underflow
Overflow
X2 / ndf
Constant

Mean

1.215+0.191

Sigma

57.83/51

121.1

X2 / ndf

+ 3859

pO

x10°

100

o




asym_sam_26_dd RMS (ppm)

3400 —

(wdd) sy

3200 —

3000

2800

24000 b b e e e ]

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€vv6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



30000

20000

10000

-10000

—-20000

asym_sam_37_dd

- )S)/ " 2800 % 1047
51#1{ l% ]l % l] l] [%l IH\H &‘l l{

1D pull distribution

Mean -0.01295 +0.1468
12- B Std Dev 1.058 +0.1038
o Underflow 0
10 Overflow 0
X2/ ndf 4.096 /7
B \ Constant 8.874 +1.681
8_
- Mean 0.02791 + 0.18243
i Sigma 1.174 +0.167
6_
=
o
0|||||| i Lo b L il
-8 -6 -4 -2 0 2 4 6 8




asym_sam_37_dd RMS (ppm)

_______________
o o o
Ty} S Ty)
o o ©

1050 —
1000 —

(wdd) sy

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€Vr6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



0III|III

¥ & o o ~ ¥ ¥
g B s 2 5 g
= g x5 3
4 2 < % ° &
o H b
2 9 S o o
g 8 g -
:
S T
s & oz =
2 T & B = ©
cls &% 5 % ¢ 5 ¢
el & 5 & % & 2 @&
E=
3
e}
=
=
2 —
©
=)
o
o
-
P R T I R S | !
< &~ o @ o©
- @ =S -
AN
v o
~
o N
Lo e
o H
n N|f —m—eo—
| —e—
i
i
————
—_——
Y—
©
c
~ ——
NP =}
<
°
2
2] —_—
<
m_ —
@©
[%)] ——
m_ e
> ———
[9] ——
@©
——
——
——
|1 L |
°c o 9o o o @ 9
o @ o o o
[= = N = o o
o @ o (= -]




asym_sam_48 dd RMS (ppm)

(wdd) sy

1600

1500

1400

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€Vr6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



2 % ° ° © 23 ] 3
S8 S g &
o = ~ - ] o
- S N + ° + i
H H ~ 0 o ) E
2 = s 8 ] .
m m @ M — p—
S}
> IM H - €
) T K] k=1 8 ]
= o @ £ 2 ® H g
[ o T B e 3 s g ° ]
o = 4] =) o < () = n -1
= -
5 —
Ko -
s 3]
R ]
o -
= -
o —
(@) =
i
1 PR T S M L .
o oo} o
=
o
v o
—_
) <
N ———— -
o —_—— —
© 0 — ——— -
™ —— -
™ —t —
- e d— -
Lo — |
| ——1— —
—— —
—_— —
Y— [ P — —
© —_—— -
c —le—— -
~ —_———— —
N O ——— .
<0 ——e—1 .
———— —
—_——T —
—— —
——1— —
> — e 3
a -—— —
< ——— -
—— —
m. ——— -
b_ —_— -
—_——— —
= el B 3
o0 —— —1
—— —
—_— —
—— —
— —
—_— —
———— —
—_— Y ) —
——— —
—_—— —
—— -
—— —
—_—— —
————— —
——————i —
—— —
—l—— —
—_— —
— —1
——1— -
— -
A EEEE FREE RN rew-s syl _
o o o o o o o
S o o ] =] S
= 5 W ¥ F




diff_bpm4aX RMS (ppm)

[ J — 0°,S6S

[ ] — §'956S

[ ] — ¥'956S
° —1 €'956S
[ J —1 2’9565

[ ] — 19565
[ ] —1 0'956S
[ ] — §'S56S

° —] ¥'SS6S

[ J —] €'956S

(] —] 2'SS6S

° — 15565

[ ] —1 0'S56S

[ J — L'VvS6S

° — 9'vS6S

[ ] — S'VS6S

(] — v'vS6S

® —EVS6S

(] — 2'vS6S
[ J — T'756S

L] — 0'vS6S

[ J —] V'€56S

[ J —] €'€56S

° — 2'€S6S

L] — T°'€56S

[ ] —1 0'€S6S

L] — 9'2S6S

[ ] —1 §'¢S6S

[ ] — ¥'¢S6S
[ J —1 €'256S

[ J —] ¢'¢S6S

(] — T'2S6S

[ ] — 0'¢S6S

[ J —1 0'056S

[ ] — S'vv6S

[ J — v'vv6S

[ J — €'v¥6S

[} — ¢'vv6S

° — T'v¥6S

(] — 0'vv6S

(] — G'Ev6S

° — V'EV6S

° — €'€v6S

[ ] — C'Ev6S

[ ] — T'EV6S

° — 0'€v6S

[ ] —] G'¢v6s

[ J — v'ev6s

[ ] — €'¢v6Ss

® —'eves

. 12769
_________f___ 0'eres

ERIRREREREE
—
N Q

(wdd) sny



o S} o © © © =3
& &z 2 &8 8 3
= 1 b} - N =]
< < © H °© H i
H A ~ H < m
g 5 8 3 8 4
<
Sz & 3 o5 &
= & 3 £ 2 3 5 g
c § z B g 3 s &8 35 ]
o = 4] =) o < () = n -1
= ]
=1 —
b -
= -
= -
2 ]
e} S — -
= -
o —
o =
-
L | TR | T L 1 L
N o [ee] < o
— -
oy
n .
- ﬂ
© ———— —
o + — - ]
0 oo —_ —
—_— -
< —_— -
— —_—— —1
e L S— -
A_. —_—— —
—_— -
—_— -
—— -
Y _—— -
© — —
c —leo— —
~ —_—— —
N O — -
< —e——h m
— —
——] —
— -
—_— ] —
x ——— .
O - -
<t —_— -1
——— -
- — L E
o —_——— _
...|_ _— —
= —— —1
o —t -
—_— -
—_— -1
—— —1
—— -
—_— —
e A —
L -1
——— -
—_—— —
—— -
— —
—_—— —
——— —1
[ — —
— — -
—— -
—— —
—_— —
—_— —1
— —
Lo o b Bae e 0 | _
o o o o o o o
o o o o o o
e & W S




diff_bpm4eX RMS (ppm)

___ _ ___
O 9
N —

(wdd) sny

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€vv6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



(=) < (=] (=] © (v} o ~
< 0 g © © o
9 8 2 o 49 3
o IS o H o =1
+ + < S + + 7]
g R § 2 2 ]
© ~ — 5 3 .
S 2 S = —
=} o ﬂ,v o -
° > Im 2 - € ]
[ T o 5 o} © —]
% a [} = c m M £
c 3} o B g = 5 5] 1=
o > » =1 ¢} < o =)
=
=}
b =
= _ ]
=1 -
2 —— —
© -
— I -
S -
o —
(@)
i
PRI T H S R T S L | I T R T R N R
o~ o 0 © < ~ [S)
— -
o
2s)
~ "
N
N5 :
. ———— —
2o -
A“ -
Lo — o— i
i -
—_—— —
S —— H
© -
c -
-~ -
N O F———o— —
< Q] -1
VI —
(o -
m ]
——— —
o -
b_ -
= -
S -
—————
—e—— —
———— -
—— —
—_— —
—_— —
____________ 2 _____________+
o o o o o o o o
=] o S =] S ] S




diff_bpm4aY RMS (ppm)

__________
0 o
o i
i

(wdd) sy

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€Vr6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



0

I 8 ° ° e 2 g 3
[ s © g 8
= 3 < — N o
o S — H °© +
+H - © +H ™
© H @ © —
N 3 @2 S
3 8 = p -
s o ]
> IM H - €
@ < K] 5 8 ]
m a [} = c m m £
c 3 = B e 3 15 g DB
6|l 8 5 &8 %« 8 = @
=
=}
o)
5
R =
o S
=
o
o
i
| | | i 1 L
0 © < [=) ©
— =1 - =
12
O N
~ O
A_”+_
[ee]
< <
Lo
00
(]
Y—
©
c
~
N O
< Q]
VI
(]
|2
Q.
b_
=
©




diff_bpm4eY RMS (ppm)

N~

(wdd) siny

N~

~

~

©

©

©

. —_

°
_______________________._________________M
© o 9 ¥ o ~ o © ¥

©

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€Vr6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



1000

500

-500

diff_bpm12X

X2 / ndf

pO

53.28 /51
48.26 + 38.54

1D pull distribution

141

12

10

Mean -0.01887 +0.1403
Std Dev 1.012 +0.09924
Underflow 0
Overflow 0
X2 I ndf 6.18/6
Constant 9.765 +1.995
Mean -0.07931+ 0.16639

Sigma 1.024 +0.169

-5

-4

-2

0

2




diff_bpm12X RMS (ppm)

(wdd) sny

0,569
S'95965
¥'9565
€'9965
2’95965
T'996S
0'956S5
S'95965
¥'956S
€'9965
2'956S
T1'996S
0'956S
L'vS6S
9'vS6S
S'VS6S
V'vS6S
€'756S
2’565
T'vS6S
0'vS6S
¥'€96S9
€'€965
2'€96S
T'€96S
0'€S6S
9'2S6S
G'¢S6S
¥'¢S6S
€256
2¢'¢S6S
T'¢96S
0'¢S6S
0'0S6S
S'Yv6S
V'vv6s
€Vr6s
'S
T'vv6s
0'v¥6S
S'EV6S
V'EVES
€'eV6s
C'EV6S
T'EV6s
0'ev6S
ERAGE]
v'eves
€'¢r6s
2¢'eres
T'eves
0'¢r6s



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37
	Page 38
	Page 39
	Page 40
	Page 41
	Page 42
	Page 43
	Page 44
	Page 45
	Page 46
	Page 47
	Page 48
	Page 49
	Page 50
	Page 51
	Page 52
	Page 53
	Page 54
	Page 55
	Page 56
	Page 57
	Page 58
	Page 59
	Page 60
	Page 61
	Page 62
	Page 63
	Page 64
	Page 65
	Page 66
	Page 67
	Page 68
	Page 69
	Page 70
	Page 71
	Page 72
	Page 73
	Page 74


